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STEEL DESIGN
----------------------------------------------------------------------------------------------------------------------------------------
CODE:   Allowable Stress Design - Ninth Edition
ANALYSIS TYPE:   Member Verification
----------------------------------------------------------------------------------------------------------------------------------------
CODE GROUP:      
MEMBER:   64  POINT:   3 COORDINATE:   x = 1.00 L = 
0.819232775 m
----------------------------------------------------------------------------------------------------------------------------------------
LOADS:
Governing Load Case:   106 1A6--DL+HKL(150K)+ROT(-10K.FT)+WIND(-X)32+WINCH  (100+40+81+61+
50+30+31)*1.00
----------------------------------------------------------------------------------------------------------------------------------------
MATERIAL:
STEEL 350W       Fy = 350.00 MPa
----------------------------------------------------------------------------------------------------------------------------------------

   SECTION PARAMETERS:  T-200Fx140Wx6
d=146.4 mm  
b=200.0 mm Ay=1280.00 mm2 Az=896.00 mm2 Ax=2176.00 mm2 
tw=6.4 mm Iy=4291943.40 mm4 Iz=4269725.01 mm4 J=29004.75 mm4 
tf=6.4 mm Wely=37962.04 mm3 Welz=42697.25 mm3 
----------------------------------------------------------------------------------------------------------------------------------------
MEMBER PARAMETERS:
Ly = 0.819232775 m Ky = 1.00 KL/ry = 18.45 Lb = 0.819232775 m UNS = 
Slender
Lz = 0.819232775 m Kz = 1.00 KL/rz = 18.49 Cb = 1.00 STI = Slender
----------------------------------------------------------------------------------------------------------------------------------------
INTERNAL FORCES:
Fx = 0.596 kN My = 0.14 kN*m Vy = 4.690 kN
Mx = -0.00 kN*m Mz = -1.82 kN*m Vz = 0.233 kN
----------------------------------------------------------------------------------------------------------------------------------------
CALCULATION STRESSES: ALLOWABLE STRESSES:
fa = 0.27 MPa  fvy = 3.66 MPa Fa = 4.06 MPa Fvy = 140.00 MPa
fbcy = 1.11 MPa fvz = 0.26 MPa Fbcy = 4.08 MPa Fvz = 140.00 MPa
fbty = -3.77 MPa fvy,mx = 0.46 MPa Fbty = 210.00 MPa
fbcz = 42.51 MPa fvz,mx = 0.46 MPa Fbcz = 4.08 MPa 
fbtz = -42.51 MPa Fbtz = 210.00 MPa 
----------------------------------------------------------------------------------------------------------------------------------------
VERIFICATION FORMULAS:
fa/(0.6*Fy) + fbcy/Fbcy + fbcz/Fbcz = 10.76 > 1.00       ASD (H1-2)
(fvy+fvy,mx)/Fvy = 0.03 < 1.00       (fvz+fvz,mx)/Fvz = 0.01 < 1.00      ASD (F4)
----------------------------------------------------------------------------------------------------------------------------------------
Incorrect section !!!


